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Using the METLIN database
Stephen Barnes, PhD

Spectrum at the top of the genistein GlcA peak
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 = 0.500

Resolving the m/z 445, 668 and 891 ions

• m/z 445.077 is genistein glucuronide [M‐H]‐

• M is 446.086

• [2M‐H]‐ is m/z 892.172‐1.008 = 891.164 (obs. m/z 891.163)
• The m/z 891‐893 series are the 2M‐H series with 13C‐isotopes

• The m/z 668‐669 series are doubly charged
• The 13C‐isotope spacing is 0.5
• m/z 668.119 is [M‐2H]2‐

• M is therefore 2 x 668.119 + 2 x 1.0072 = 1336.238 + 2.014 = 1338.252
• Divide 1338.252 by 446.086 = 3

• m/z 668.119 is therefore [3M‐2H]2‐

• All these ions are from genistein glucuronide
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Now let’s go to METLIN
Put METLIN in your browser
use your account information
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Enter the masses 
from PLS_VIP file

Select negative

Select the ion 
types – M‐H, M‐
H2O‐H, 2M‐H, 
3M‐H
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Select ppm = 5

Go search

MSMS spectrum not useful. 
Would be better if METLIN didn’t 
link negative ions to positive 
MSMS spectra
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117.0334

Apigenin is quite stable and needs the higher collision 
energy (‐40 V) which available in this case.

The base peak product ion is m/z 117.0334
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Genistein is quite stable and needs the higher collision 
energy (‐40 V) which available in this case.

Its base peak product ion (m/z 133.0825) is different from 
its isomer apigenin (m/z 117.0334).

133.0825
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Again, no negative ion data
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Again, no negative ion data
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This is really the 13C2‐isotope ion of m/z 445.077

None of the five records are of genistein ‐glucuronide sulfate
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Again, no negative ion data
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